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SEC(&) PHYSICS
1. If the displacement-time graph for the two particles
Aand B are straight lines inclined at angles of 30°
and 60° with the time axis, then ratio of the velocities

vA: vB will be Y
t A
; 5
: 60
e
O Timre —> x
(a)1:2(b)1:.3 () :1 d)3:1

1.91& &I HU A 3R B & o faRimu=-wwg U

THY 3f&f &A1Y 30° 3R 60° b PIVI W Fh! g%

Hieft ard &, A AT BT ST vA: vB FIT BRI
Y

A

A
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O  Time—

@1:2(0)1:3

Displacement —>

X
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2. If a body is thrown up with an initial velocity u and
covers a maximum height of h, then h is equal to :-

(@) u2/2g (blu/2g (c) 2ulg

2. Tf¢; fordl s o1 RN o1 & I1Y B fea
ST § 3R T Bt B dH SaTs Bl B (bl
Tl @,

(@) u?/2g (b)u/2g () 2u?g
3.A body is thrown vertically upwards and rises to a
height of 10m. The velocity with which the body was

(d) none of these

(d) none of these

thrown upwards is (g = 9.8 m/! 5(0)
(@) 16 m/s (b) 1I5m/s (c) 14 m/s (d) 12 m/s

3. T S &l dead SHWR Pt 3R Theb] STl & 3R
10 Hicxk Bt $dTs o d¢ 9l g S 3 T fig &
FW B AR BT TATUTTES (g = 9.8
e/ AH 3 (b)

(a) 16 HIEY/AHS (b) 15 HIc/AHS

() 14 He/AFS (d) 12 Hex/ A s

4.Take the uniform acceleration near the
surface of earth to be 9.8ms™2 for a
free fall. What is the velocity of a body
at the end of two second of free fall, if
the initial velocity is zero?( g =
9.8m/ s(b)
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(@ 9.8ms™! (b) 19.6 ms™! (c) 3 x9.8 ms~!
(d) 4 x 9.8ms™1

4. g9 fR1ac & fore gedl &t Idg & U™ T 989
TR &1 9.8 ms~ o | TG TRFYS o7 LA &, df Gadl
RTae & 31 Yohe & 3id A T s &1 T 1 82 (St
= 9.8m/AHS(b)

(@) 9.8ms™ 1 (b) 19.6 ms~! (c) 3x9.8 ms~!
(d) 4 x 9.8ms™1

5. A rider on a horse back falls forward when
the horse suddenly stops. This is due to
(a) inertia of horse (b) inertia of rider

(c) large weight of the horse

(d) losing of the balance

5. 9IS P 1o IR IR Th AR 31 R & oig OieT
3[AM® ¥F ST ¢ | SUD! Iolg T8 &

(a) IS 1 ST (b) FaAR P! Sgell

(c) TS BT ST oI (d) Fer T

6. A constant force of 12N acts on a body
for 4s. Find the change in the linear
momentum of the body

(@ 12 N-s  (b) 24 N-s (c) 48 N-s (d) 28 N-s

6. 12 N &1 U RO 91 4 s & folT T IRR R B

AT 81 TRR & WD o # uRacH F1d Bifod

(@) 12 N-s  (b) 24 N-s (c) 48 N—s (d) 28 N-s

7. The weight of a man in a lift moving
upwards is 608N, while the weight of
same man in the lift moving
downwards with the same acceleration
is 380N. His normal weight in newtons
is
(a) 488 (b) 588 (c) g (d) 240

7. SR B! 3R Jg arall forve | U MTeH! &1 goi

608 N &, STap 3T @RUT P J1 1d B 3R Fg

aret forge o U &1 3 &1 g 380 N 81 e o

3P A Tol- T 57
(a) 488 (b) 588 (c) g (d) 240

8.  The ratio of the weight of a man is
stationary lift and in a lift accelerating
downwards with a uniform acceleration
‘a’is 3:2 the acceleration of the lift is

(a) g/3 (b) g/2 (c)g (d) 2g

8. T SATGH! o dol BT ST RR e § 3R Th

THM @07 'a' & 1Y - BT 3R ol o Fg- arar

fore o fore &1 @Rur 3: 2 82

(a) g/3 (b) g/2 (c)g (d)2g
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9. The force acting on an object perpendicular to
the surface is called

(a) Pressure (b) Thrust

(c) Impulse (d) Area

9. g8 o G9dd a%g IR HII B ald a9 Bl ol
B STl 87
(a) GTS (b) UM () 3MAT (d) &=

10. The S.I. unit of buoyant force is
(a) pascal (b) joule
(c) newton (d) kgm/s

10. UHTedTd 9 BT THSATS 3BTs HT 67

(a) URDd (b) I (c) e (d) foum di/ddvs

11. Inertia

(a) sets objects in motion

(b) causes changes in motion

(c) is the result of a net force

(d) is directly proportional to the mass of an object

11, Sl

@ T H aXg3f B! Je Hdl 8

(b) TIfa & uRad &1 HRU &1 &

(c) T fAad 5 o1 uRumA §

(d) forelt aq & Soa| & Y U §

12. Force is defined as

(a)a change in momentum

(b) rate of change of momentum

(c) the quantity that opposes inertia

(d) the quantity that keeps the velocity constant

12. 9 &1 39 =0 & gRYINT e mar g
(a) TATT H URGd (b) o URad Pt &3
(c) SIS dT & faRIY S aralt AT
(d) I8 T Sl 37 I fRR &t &

13. Which of the following is an equation of motion
of a body?
(a)p =mv
(a)v-u=at

13, Fgforaa & T o 97 fdt fifs ot 7fa &7
THIBHRU §?
(a)p =mv

(a)v-u=at

(b) F=ma
(d) Ft=mv - mu

(b) F=ma
(d) Ft=mv - mu

14. Passengers standing in a bus are thrown
outwards when the bus takes a turn suddenly. This
happens because of

(a) outward pull on them (b) inertia
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(c) change in momentum(d) change in acceleration

14, 59 ¥ TS AT} I T8 DI 3R B a1 Srar
f:'%a%aﬂmagaﬁ%l TP aoE I AT
|
(a) I WR ST&H f&=d (b) STl
() a7 H ufkac (d) @RoT § aRad=
15. Newton's second law gives a measure of
(a) velocity (b) force
(c) momentum (d) rate of motion

15. e BT &1 FaH fbgest A9 21 82

(a) A (b) & (c) AT (d) Tl BT &

16. The motion of the moon around the Earth is due
to the centripetal force. The necessary centripetal
force is provided by

(a) gravitational force(b) force of friction

(c) electrostatic force(d) magnetic force

16. Gl & IRI 3R Il Pt A FSIIRD g &b
PHRUT B 8| TP H-EIIRSD §d [T gRI
U fhar Sirar 82

(a) TH@ATHYT §d (b) THT I

() IGgARIIH 9 (d) a1 g

17. The value of G was found out by

(a) Issac Newton (b) Johannes Kepler
(c) Galileo Galilei (d) Henry Cavendish

17. G 1 HM fhqds gR1 I1d foam Tam 412

(a) SHIP e (b) S HUWR
(c) e Tl (d) B7RT hafSRT IR S

18. The value of acceleration due to gravity near
the Earth's surface is

(a) 9.8 m/s (b) 9.8 m/s?

(c)89m/s (d)8.9 m/s2

18. J2dt B Fdg & U @Iyl & HIRUT avul
BT HH R 57

(a) 9.8 m/s (b) 9.8 m/s?

(c)89m/s (d)8.9 m/s2

19. The pressure which is exerted by air around us
is known as

(a) force (b) atmospheric pressure
(c) muscular force (d) friction

19. BHR IR 31R g4l GRSt GaTd STel Oilell 5, 34
g = # S ST 87

(a) T4 (b) ITRIHSTNT TTF () UM § (d) THOT

20. The force exerted by the earth to pull the object
towards itself is called

(a) electrostatic force (b) gravitational force

(c) muscular force (d) contact force
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20. Gedt GRT a¥g &1 (U1 3R Wia= o forg avman
S HEANT &

(a) IGITRNAF T (b) TIATHY T

() URM & (d) YU 5

21. The force exerted by a charged body on
another char

(a) gravitational force (b) electrostatic force

(c) non-contact force (d) contact force

21. ARG WR gRT TR IR TR AT 7T 9
(a) TECETHYU & (b) G EN|
(c) TR-TUP 9 (d) TUb I

22. Force changes the
(a) motion of body

(c) shape of body

22. 91 §GAdl §

(a) TRR BT Tl (b) IRR B Tl
(c) IR BT 3MTHR (d) T Gt

(b) speed of body
(d) all of these

23. A spring balance is used for measuring

(a) mass (b) weight

(c) pressure (d) speed

23. T IHd Iga $I AT o forg yanT fovam oiran 8
(a) SO (b) HR (c) aTel (d) TTel

24. Leaves fall down on the ground due to
(a) electrostatic force (b) magnetic force
(c) gravitational force (d) muscular force

24, Uil S IR fTRA & HROT
(a) ISYTRIP & (b) YIPT F

() To@IH YUl §¢ (d) TR &

25. A push or pull on an object is called
(a) Pressure (b) Push-pull

(c) Force (d) All of the above
25. fordlt avq WR Yot a1 Rea1a gl o §

(a) TS (b) YRI-4d () T (d) ITGaa weft

26. Friction is a

(a) non-contact force (b) contact force

(c) magnetic force (d) electrostatic force

26. IY0 TP &

@ R-Tuds §a (&) TS 9 (c) oD 1T 9 (d)
degaRfa® ad

27.1f we apply oil on door hinges, the friction will
(a) increase (b) decrease

(c) disappear altogether

(d) will remain unchanged

27. Tfe B9 AT & fepT IR dd @Ird 8, af aefur g
(a) Ti (b) P!
(c) I TIRE ¥ TS BY ST (d) SURafeid T
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28. Sound cannot travel through
(a) air (b) water
(c) glass (d) vacuum

28. @@ fbg ATeH @ I A8 HR Ihd

(a) A (b) I (c) BT (d) Frata

29. Which of the following is true

(a) we write on paper with pen due to friction
(b) A nail is fixed in the wall due to friction

(c) Soles of shoes wear out due to friction

(d) All of these

29. Fofifed & 9 &9 91 HY= 93 52

(a) TH IYUT & HRUI Hed Y SRS W forad ©
(b) TYUI & BRI IR H TP Bl a9 Pl SIlell &
() TYUr & HRUT Sl & dqrd o o §

(d) T gt

30. If we apply the force along the right the friction
acts along the

(a) right direction
() can not say

(b) left direction
(d) none of these

SEC(8) CHEMISTRY

31. The law of constant proportion was proposed
by

(a) Dalton (b) Avogadro

(c) Joseph Proust (d) A. Lavoisier

31. FRER 3rurd o1 Aoy fagds gRT uRarfad fasan
TRIT UT?

(a) STee (b) SrANTS!

(c) ST UG (d) U. AEBRAR

32. 1.0 mole CO; contains

(a) 6.022 x 10-25 atoms of carbon

(b) 6.022 x 10-23 atoms of oxygen

(c) 6.022 x 1023 molecules of CO2(d)3 g atom of CO;

32. 1.0 HId cO, H A &

(a) 6.022 x 10-25 atoms of carbon
(b) 6.022 x 10-23 atoms of oxygen
(c) 6.022 x 1023 molecules of CO;
(d)3 g atom of CO;

33. The atom is indivisible, was proposed by
(a) Einstein  (b) Lavoisier
(c) Dalton (d) Proust

33. TRATY] AU &, GRT IRATfae febam ram o
(a) 3MEEH (b) AAIZRIR (c) STeed (d) UISE
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34. One atomic mass unit of carbon-12 is
(a)1/12 of the mass of one 2C atom
(b) 6.022 x 1023g

(012g (dlg

34. BTE-12 B Th URHY] STH FhTs T 87
(a) TH 12C URHATY] o SO & 1/12

(b) 6.022 x 102 UTH (c) 12 UTH (d)1 I

35. Modern atomic symbols are based on the

method proposed by
(a) Dalton (b) Berzelius
(c) Bohr (d) Mendeleev

35, YD URATY] Uciieh bt GRT URdTiad fafey
TR SR &2 .
(a) BTTe (b) TSICTN (c) 9 (d) Hedd

36. Numerical value of Avogadro's number is
(a) 6.022x 1023 (b) 6.022 X 1020
(c) 6.022x 1015 (d) 6.022 x 10-24

36. Avogadro's P! TSI BT GBATHS HI- T 87
(a) 6.022 x 102 (b) 6.022 X 10%° () 6.022 x 10"

(d) 6.022 x 10
37. The chemical symbol for nitrogen gas
(@N  (b)Ni (c)N* (d)N:

37. A1geioH 19 & forg Yywmafe udie

(@N  (b)Ni (c)N* (d)N:

38. The process of separation of insoluble solids
from a liquid is called:

(a) Filtration(b) Decantation

(c) Crystallisation (d) Evaporation

38. TH oA A SYTIRI 31 TGeTdl o GYFHRul
&1 UfshdT o1 Hel Sl 3
(a) FAtEA (b) P

(c) foheeliapruT (d) arediemun

39. The size of the colloidal particle is in the range
of

(a)iAto 100 A (b)1 nm to 100 nm

(c)10°mto 10°m (d) 109 cm to 107 cm

39. HICESTA HUI BT SHR [HHdH! HHT H 57
(a)iAto 100 A (b)1 nm to 100 nm

(c)10°mto 10¢m (d) 10° cm to 107 cm

40. An example of a liquid metal and a liquid non-
metal is
(a) gallium, mercury (b) mercury, chlorine
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(c) mercury, bromine (d) bromine, sulphur

40. T TR U1 3TR U R IR-UTq BT T
TR T 87

(a) AERIH, URT (b) TRT, FAR

(c) UIRT, ST (d) S, Hethr

41. Which out of the following is a heterogeneous
mixture?

(a)air (b) brass

(c) lodised table salt  (d) steel

41. Foffaa & @ o5 a1 fawe fiygor g2
(a) I (b) UIad (c) TASZS ¢dd THS (d) ST

42. The chemical symbol for sodium is

(a) So (b) Sd
(c) NA (d) Na
42. AQifegw F forw IS Udie 1 82
(a) So (b) Sd
(c)NA (d) Na

43. On converting 25°C, 38°C and 66°C to Kevlin
scale, the correct sequence of temperature will be
(a) 298K, 311 Kand 339K

(b) 298 K, 300 K and 338 K

() 273 K, 278 Kand 543 K

(d) 298K, 310 K and 338 K

43, 25 f&ht Ay, 38 fTit A ik 66 f&3ht
AT BT Ao 90 TR Rafid aA W, daEH
BT ol SIhH T GRI?

(a) 298K, 311 Kand 339K

(b) 298 K, 300 Kand 338 K

(c) 273 K, 278 K and 543 K

(d) 298K, 310 K and 338 K

44, Which of the following phenomena always
results in the cooling effect?

(a) Condensation(b) Evaporation

(c) Sublimation(d) None of these

44, FEfaRed # 9 SH 9 geAT g0 Rded gHE H§
gRord gieht 87

(a) Y (b) aTIRRUT

(c) 3 S Bt 3T (d) 90 9 PIS a1

45. The strongest synthetic fibre is

(a) nylon (b) rayon

(c) polyester (d) acrylic

45, g9 AoTgd e wIseR §

(a) T (b) YT (c) UIMITRR (d) Ushfeieh
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46. Which of the following is a natural fibre?
(a) Wool (b) Nylon

(c) PVC (d) Polythene

46. FEfIRET & 9 S 91 T& WIpiad BRI o7
(a) BT (b) T (c) G (d) Treitfa

47. The metal which is liquid at room temperature
is

(a) sodium (b) bromine

(c) calcium (d) mercury

47. 4T S HHR & IT9HH R O §

(a) TITSTH (b) STH (c) BTeRIEH (d) TRT

48. Metals are

(a) soft and brittle (b) hard and solid
(c) liquid (d) generally liquid
48. 418 §

(a) TRH 3R R (b) FOR 3R 319

(€) <4 (d) HMHTYU: «d

49. Full form of LPG

(a) Light Petroleum Gas

(b) Liquefied Petroleum Gas

(c) Long Pipe of Gas  (d) Long Petroleum Gas
49, TAYTST &1 Fd BIH

(a) Light Petroleum Gas

(b) Liquefied Petroleum Gas

(c) Long Pipe of Gas  (d) Long Petroleum Gas

50. The burning of LPG is an example of

(a) rapid combustion

(b) spontaneous combustion

(c) slow combustion

(d) explosion

50. TAUTST ST [hehT U SGIeRUT 62

(a) 19 && (b) AT a6

(c) it 7T @ &8 (d) fawpie

51. A temperature at which the substance burns
is called

(a) melting

(b) boiling temperature

(c) kindling temperature

(d) evaporation

51. U AT9H ford TR Uar Siadl ¢ 39 &gl ol o
(a) TG (b) Jeerd A9

() Usae YA (d) AT

52.Which is non-renewable source of energy’?
(a) Natural gas

(b) Wind energy

(c) Tidal energy

(d) Mechanical energy

52. Bolf T TR-TAIBUNT Hid DI I1 82
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(a) UThTae T (b) TaT Foll (c) SARIT St (d)
TifAe® Sl

53.The amount of heat energy produced on
complete combustion of 1 kg of a fuel is called
(a) calorific value

(b) significant value

(c) heat value

(d) internal energy

53. Tah foel T S8 o gUf g8+ R Idlad SWT
ol B! AT T HEAT 67

(a) BART 7 (b) FE@YY e

(c) ST M (d) HTARD Hol

54. Which of the following statement is true about
compounds ?

(a) Compound is homogeneous and have fixed
composition

(b) Compound is heterogeneous and have fixed
composition

(c) Compound is heterogeneous

(d) Compound is heterogeneous and has no fixed

p
54, T 3 SR 7 FraRed & @ S @ Py g

82

(a) DD FITiT B 3R 3Ta! AT W= R

(b) T faur § 3R 39! FRffd dem @

(c) Ofe fawr ©

(d) TfiTe fawH & 3R 3ol ®1S FAfEd T e 8

55. Which of the following is an element?

(a) Diamond (b) Lime

(c) Baking powder (d) Common salt

55. FGfRad & ¥ &9 91 dc@ &2

(a) BRT (b) T () BT USSR (d) W THS

56. Which of the following statement is always true
when a substance undergoes physical change

(a) It changes colour

(b) A new substance is formed

(c) It boils

(d) Its composition remains the same

56. 519 ®Is U Hifde aRad= § erRar g af
FafiRed # 9 o9 91 Hy= g0 9 gl §

(a) T8 T TG § (b) T 41 G ST ©

() T8 I § (d) SHD! AT THM Gl &

57. An atom with 3 protons and 4 neutrons will
have a valency of

(a)3 (b) 7

(01 (d) 4
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57. 3 Uic 3R 4 IS dTel URHTY] b1 Qe frads (c) Darwin and Wallace(d) Mendel and Morgan
o gt
(a) 3 (b) 7 62. PIRTDT RIGId BT UdTa fope @1 UT?
(01 (d) 4 (2) TAS 3R 4T (b) ATCH R fhep
() ST SR aTeR (d) Hea 3R AR
58. The ion of an atom has 2 negative charges. Mass 63. The longest cell in the human body is
number of the atom is 16 and the number (a) nerve cell (b) muscle cell
neutrons are 8. What is the number of electrons in (c) liver cell  (d) kidney cell
the ion?
%3 %Zo 63. I YRR ) Ya wielt pIRIeHT 1 7
(a) AT PIRMBT (b) HIGURR DIFRAST () THd

58. Uah URHIY] & 3 H 2 HUMHAS AN BId 5 |

TR &) ST G 16 § IR T g 8 B PIADT (d) TS BT HIAD
9 a \J f- . ?
(@) 6 " = (§7 N 64. Middle lamella is formed of
()8 (d)10 (a) calcium pectate (b) cellulose
(c) hemicellulose (d) lignin
59. The number of electrons in an element X is 15 64. HE AU bt 7o m%?
and the number of neutrons is 16. Which of the (@) HieRgH Yade (b) E-IEEEiIGI (9% ﬁa5§6 o
following is the correct representation of the (d)
element?
(a) 315X (b) 3146X 65. Plasma membrane is
(c) 16 15X (d) 15 16X (a) permeable (b) selective permeable
59. U I X 3L 1 TRe 15 % IR et it (b) semipermeable(d) impermeable
TS 16 81 3718 & I 1 Pl ded @1 Jeh 65. TiToHT freell &
nfafafira 7 (a) URITH (b) FATHD URTRI
(a) 3145X (b) 316X (b) SEURIH (d) W
(c) 16 15X (d) 15 16X
66. Lysosomes are also called
60. Anode rays are produced when (a) suicide bags (b) digestive bags
(a) cathode is perforated (c) demolition squads (d) all the above
(b) anode is perforated
E;)) w}}llen low Voltage }115 p}?ssed 66. m-q CARY CTHESIG %
when pressure Is igh THETC A (b) TR A (¢) faegT
60. TS R0l 79 I Bt & o d EZ))B'C@HHH&TT (b) (c) &
© Heirs Bfsd 3 (b) TS Bfeagrar s
() Vg ®H dieest aiid g;m it % 67. Contractile vacuoles take part in
(d) ST GETa Ier g (a) absorption of water from outside
(b) osmoregulation
(c) excretion (d) both b and c
SEC(C) BIOLOGY 67. RigpgT gofm RidepTq 4m ofeft &
61. The term 'cell' was given by (a) STeX RENK 3-IT:I'-‘Zh'E|'UT.(b) 3T ?ﬂﬁ R
(a) Leeuwenhoek(b) Robert Hooke (0) ISt () KC] 3R T AT

(c) Flemming(d) Robert Brown
68. Centrosome occurs in

61. '@F{' IS iaovuao G ﬁ'&l‘[ g1 U1? (a) plant cells (b) animal cells
(a) T3ATRI® (b) ‘{TG'C‘.EH'; (c) TRAIFHT (d) Iac (c) animal cells and some lower plant cells
CIRG] (d) al.l the abgve
68. YR A gIT & i
62. Who proposed the cell theory ? (a) Uled 5|5-||§I5|5_ ¢ (b) WW )
(a) Schleiden and Schwann(b) Watson and Crick (ORI HIRTBIT 3R P9 Hdd Ulqy PIBTY
(d) SIRYeT gt
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vegetational cover?

69. Ribosomes are made up of (a) Rain water percolates in soil efficiently.
(a) lipoprotein (b) RNA (b) Rain water causes loss of surface soil.
(C) protein (d) both (b) and (c) (c) Rain water leads to fertility of the soil.
69. T['s’&ﬁ@'ﬁ[ Eﬂ?f %? (d) Rain water does not cause any change in soil.
(a) FeITICI (b) SMREAY (¥l) W
@ 2 @) R & 75.®%@m%mwmﬁ&w$mmﬁw
Rt 82
70. Colourless plastids are known as (a) IS TS &l & PRIIAYdP YaTfed el ¢ |
(a) leucoplasts (b) chromoplasts (b) YT 9T TG! J&T B! G BT HRUI & 5 |
(c) chloroplasts (d) none of the above () G'Gl'f SE ﬁ CARCRRIES] EET‘F[ %I
70. TTE WS B fhg U T ST ST /7 (d)a’qfaa%qaﬁaﬁs‘trhaﬁqqﬁam%
(a) q{i\q;umNc (b) AL ILYILS 76. In desert plants, rate of water loss gets reduced
(c) FARIERE (d) dngd TIPS T8l due to the presence of
(a) cuticle (b) stomata
71. Chlorophyll is present in (c) lignin (d) suberin
(a) matrix  (b) stroma 76. XA Welt &, TR 31 g1 Bt @R BT U &
(c) cristae (d) thylakoid DR DHH B G|T(-ﬂ g
71. FARIMbA & Hive & (a) BT (b) W (o) T (o) JARA
(a) AR (b) LT () T (d) YIS S _ _
77. Cartilage is not found in
72. Low visibility during cold weather is due to Eag lr{lp(ise Eg% lear
(a) formation of fossil fuel. ¢jkidney - ld)larynx
(b) unburnt carbon particles or hydrocarbons 77. JUTRY T T e Sireft %
suspended in air. (a) TP (b) P (<) < (d) TRIF
(c) lack of adequate power supply.
(d) none of these. 78. Which of the following tissues has dead cells?
72. 38 &% HIH & SR &1 T=dT & HRUIEIAT ¢ (a) (a) Parenchyma (b) Sclerenchyma
Sttareq EF%H &1 Fmion (c) Collenchyma (d) Epithelial tissue
(b) Ba1 & P T U1 a1 gTggibTaH| 78. awmﬁ‘ﬂ'aaa ﬁiggim%ﬁ T 73 BRI Bl 82
(o) Taftd fagyd 3Myd &1 3rHTa | (d) 379 A 1S TN (@) (b)
() PIAADBISHT (d) IUDH T Sl
73. Oxygen is returned to the atmosphere mainly ) o .
by 79.Binary fission is observed in
(a) burning of fossil fuel. (a) Hydra
(b) respiration. (c) photosynthesis. (b) yeast
(d) fungi. (c) Amoeba .
73. SIS =0 U J argHSd H AT 311 STl § (d) humanbeing
(a) SHTATRH S BT ST (b) 4| 79. fganyrd g & wrn ST @
(c) UhTR] HANUT| (d) PHaeh | (a) BTEST (b) WHR (c) 3rHIeT (d) AT
74. Soil erosion can be prevented by 80.Asexual reproduction is observed in
(a) raising forests (a) cow
(b) deforestation (b) buffalo
(c) excessive use of fertiliser (c) sponge
(d)overgrazing by animals boss (d) hen '
74. &1 IRGH B AT S Tbdl § 80. 3l TroT= H AT SITell 8
(a) I BT I (b) I P HeTs (a) T (b) Y (c) Tt (d) T
() IR BT AP SUAN
(d) m{[a"mgm 3fIH RS 81.The animals that produce new young ones are
called
75. What happens when rain falls on soil without (a) viviparous
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(b) oviparous

(c) both

(d) none of these

81. mgmﬁaaﬂﬁmﬁaﬁaﬁﬁmw%
(a) fafer (b) SISTHR (¢) THI (d) 370 T PIS ol

82. Ovum or eggs are formed in

(a) ovary

(b) testes

(c) penis

(d) ovident

82. fSar 38 fpu A wd §

(a) 3STRA (b) T (c) i (d) TR

83. How many pairs of Chromosomes are found

in nuclei of their cells?

(a) 22 pairs

(b) 23 pairs

(c) 24 pairs

(d) 25 pairs

%%ﬁﬁmsﬁ$mf‘%ﬁw@$%3rﬁh€m
?

(a) 22 SIS (b) 23 SIS () 24 S (d) 25 IS

84.Children gain height during

(a) adolescence

(b) endocrine

(c) balanced food

(d) menarche

84. F= P TS fdl GRH UTLd GBIt &

(a) TPRIRTIRT (b) it HATdT

(o) Tgferd Mo (d) AR e

85.Adam’s apple is

(a) enlarged larynx

(b) mammary glands

(c) apple of adam

(d) red apple

85. USH &1 99 3 ‘

(a) 9¢ U WARYA (b) W Ul

(c) 3MTGH &1 Ud (d) ATed I

86.0ut of these which one determines the sex of
the baby?

(a) Hormones

(b) Chloroplast

(c) Chromosomes

(d) Pituitary gland

86. 70 § 1 5= P fefit FefiRd et ¢2

(a) BHM (b) FARTERE (c) O (d) fregest Uiy
87. What is the stoppage of menstruation called?
(a) Menarche(b) Menopause

(c) Gametes(d) Insulin

87. ATEARY & GER1d Dl T Hed 87

Sample Paper for class IXth

(a) TSTAGRT (b) TSGR (c) I (d) THFe

88.Which of the following drug is an antipyretic?
(a) Insulin

(b) Alcohol

(c) Streptomycin

(d) Paracetamol

8g. fFfafed & @ o1 Ht gar TdRfes g7

(a) e (b) 3fehlgd

() RPHRRM (d) RiRyemia

89.The status of algae in the aquatic food chain
is

(a) consumers

(b) producers

(c) host

(d) small in size

89. SICiY T SRaa W SiaTdt o1 fufay am /7

(a) SUHIKT (b) SHTED () HOTSTH (d) 3MHR H BIcT
90.The rod shaped bacteria are called

(a) Bacillus

(b) Coccus

(c) Vibrio

(d) Spirillum

90. S & MHR & Sa AT Bl HET A §

(a) SR (b) BlFd Y (c) faforl (d) TrsRam

SEC(D) MATHEMATICS

91. Abscissa of a point is positive in

(a) quadrantlonly  (b) quadrant Il only
(c) quadrants I and II (d) quadrants I and IV
91. T fag H1 Ut HRIES

(a) IR | Had (b) Tl 11 Fad

(o) Tqufer 1 3R 11 (d) Tqufer i sk 1v

92. How many sides does decagon has?
(a)8 (b) 10(c) 6 (d)12

92. SHTH & b Ter g2

(a)8 (b) 10(c) 6 (d)12

93. A linear equation in two variables has maximum :
(A) only one solution (B) two solution

(C) infinite solution (D) None of these

93, Gl I H T I FHiHRU 7 31fpad B
(T) Had Th JHTYM (&) & FHTL
@ s THTeE @) 399 9 B el

94. The fraction 2/5 converted to percentage is
(a) 20% (b) 30%(c) 40% (d) 50%.

94, f¥ 2/5 ufawra # uflafda foar mar g2
(a) 20% (b) 30%(c) 40% (d) 50%.
95. The 20th term from the end of the
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AP 3,8,13,... 253 is (A)x=4,y=1 B)x=2,y=0
(a) 163 (b) 158 (c) 153 (d) 148 (C)x=6,y=2 (D) All of these
95. Y 20a UG UW 3, 8, 13,... 253 & 103 THIBRT x - 2y = 2 T & TN &7
(a) 163 (b) 158 (c) 153 (d) 148 (A x=4y=1 (B)x=2,y=0
Q96. The 4th term from the end of the Y Y
AP-11,-8,-5, .49 is C)x=6y=2 (D) T
(a) 58 (b) 43 (c) 40 (d) 37 104.  Every rational number is
AN i (a) a natural number  (b) a whole number
96. S{d YT UG U -11, -8, -5, ... 49 (c) an integer (d) a real number
(a) 58 (b) 43 (c) 40 (d) 37 104. TS URERT T-T 1 57
97. The second term of an AP is 13 and its 5th (a) Th W T (b) Th U;Uf T
term is 25. What is its 17th term? (c) T&H qpﬁa; (d) T aRdfde T=AT
(a) 73 (b) 77 () 69 (d) 81
97. U TG BT IS 13 2 iR =T 5 91 Ug 25 B 105.  Between any two rational numbers there
. : (@) is no rational number
@I 1741 UG H1 57

(b) is exactly one rational number
(c) are infinitely many rational numbers
(d) is no irrational number

(a) 73 (b) 77 (c) 69 (d) 81
98. The sum of first 16 terms of the AP 10,6, 2,... is

(a) 320 (b) -320 (c) -352 (d) -400 105. for=gl Gl ufvag st o ofa
98. % UEA 16 UG HT AN TW 10,6, 2,... (a) IS URAT AT LT & (b) SN T URHT FET &
(a) 320 (b) -320 (c) -352 (d) -400 () T U I F% URTY WAL §
99. The sum of first 20 terms of the (d) ﬁ’a‘ SMONHT T '_'|—E’pf%
AP 1,3,5,7,9,..is _ _ _
(a) 264 (b) 400 (c) 472 (d) 563 iﬁ?ﬁber 'il;he decimal representation of a rational
99. % Ugd 20 UGl BT AN T 1,3,5,7,9,.. B (a) always terminating
(a) 264 (b) 400 (c) 472 (d) 563 (b) either terminating or repeating
100. (5+13+21+..+18(a)=? (c) either terminating or non-repeating
(a) 2476 (b) 2337 (c) 2219 (d) 2139 (d) neither terminating nor repeating
100.  (5+13+21+..+18(a) =? 106. TR W T GIHAT [0 1 57 5
(a) 2476 (b) 2337 (c) 2219 (d) 2139 () BH I ST () I ol A HAT
(c) TN A A FRAT T SR 7 g1
Q 101. The sum of n terms of the (d):f?ﬁwwmaﬁiqﬁaﬁm
AP+/2,/8,\18,4/32 ,..is
) . 107. The decimal representation of an irrational
< = number is
(@) 1 (b) 2n(n + (a) () > n(n+ (a) (d) NG n(n + (a) (a) always terminating
] (b) either terminating or repeating
101. AP/2,4/8,4/18,4/32 ST Ua ST, ® (c) either terminating or non-repeating
1 1 (d) neither terminating nor repeating
(2)1(b) Znin+(a}(c] 5 nin+(a) (d) - nin+(a) 107. AR T BT SR R0 3T 37
102._ A linear equation in two variables has &) T1 A G BT AT AR
maximum (c) T N TG BT T IeRTT A BT
(A) only one solution  (B) two solution (d) 7T o qHT HRAT 3R 9 & ST
(C) infinite solution (D) None of these 108. 6x* +17x +5=7
(@) (2x + (a)(3x+5) (b) 2x +5)(3x + 1)
(c) (6x +5)(x +(a) (d) none of these
102. & IR H TP AP THIHR0 F SHfmad g 108. 6x2 +17x + 5=
(@ DHad Uh JHIYM (o) Gl FHTYTH @ (2x+ @Bx+5)  (b) (2x +5)(3x +1)
@) 3rd T (&) 5 A B A (© Bx+5)(x+@) (0 FTHI DK Tl

103.  Solution of the equation x - 2y = 2 is/are
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109. Find the cube root of 343.
(A)6(B)7(C)5(D) 4
109. 343 &1 YHd ATd
(A)6(B)7(C)5(D) 4

110. 25% of a number is more than 18% of 650 by 19.
The number is :

(A) 380.8 (B) 450 (C) 544 (D) None of these

110. U T-HT BT 25% 650 B 18% H 19 HTUF ¢ |

T &
(@ 380.8 (s 450 () 544 (1) T78 A B I

111. A trader allows a trade discount of 20% and a
cash discount of 6 % % on the marked price of the

goods and gets a net gain of 20% on the cost. By how
much above the cost should the goods be marked for
sale ?

(A) 40% (B) 50% (C) 60% (D) 70%

111. U TR 20% B IR FE 3R 6,1-4 BI THG
JC DI IIAM a1 8 | 1A & 3ifohd o | % 3R
AT TR 20% 1 LG AT YT BidT & | 1A B ANl
9 fobe1 31fdes & forq fafgd fasa S =nfe farep?
(A) 40% (B) 50% (C) 60% (D) 70%

112. The surface area of a cube is 1734 cm?. Its
volume is :

(A) 2197 cm® (B) 4913 cm?®

(C) 2744 cm?® (D) 4096 cm?

112. T 991 $1 YE1I &0 1734 a7 T4t g1 ST
3T &

(A) 2197 cm® (B) 4913 cm?®

(C) 2744 cm? (D) 4096 cm®

113. How many bricks, each measuring 25 cm x 11.25
cm x 6 cm will be needed to build a wall 8 m long,

6 m high and 22.5 cm thick?

(A) 5600 (B) 6000 (C) 6400 (D) 7200

113. 8 Hiex el SaR 991 & Tt farait 3¢ dt
ARSI giTT, o H ¥ e &t |19 25 JH x 11.25
It x 6 T BRN? 6 Hex ST 3R 22.5 It Aer?
(A) 5600 (B) 6000 (C) 6400 (D) 7200

114. If 1/2 is subtracted from a number and the
difference is multiplied by 4, the result is 5. What is
the number ?

(A) 8/9 (B) 7/4 (C) 6/4 (D) 1/3

114. TS T 1/2 YT ol 8 3R 3R ol 4
3 10T f3aT ST B, < Ui 5 gYdT € | TRedT T 82

(A) 8/9 (B) 7/4 (C) 6/4 (D) 1/3

115. Amit’s monthly income is 30% more than that of
Raunak. Raunak’s monthly income is 20% less than

10
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that of Deepak. If the difference between the monthly
income of Amit and Deepak is * 800, what is

the monthly income of Raunak?

(A) Rs. 12000 (B) Rs. 16000 (C) Rs. 20, 000 (D) None
of these

115. 31T Pt ARYD 31T I B ATRIS 3T T 30%
3P §. b B! AP 3T I 20% PHH ¢ U
H1| afe T 3R e &1 ARSI & s &1
3R 800 TUT B, T T 82 ATh I WIS 3M?

(@ 12000 ¥ (&) 16000 TTA

&) 20,000 T &) 3TH A DIs el

116. A student has to secure 40% marks to pass. He
got 40 marks and failed by 40 marks. The maximum
number of marks is :

(A) 160 (B) 180 (C) 200 (D) 320

116. U faemeff &1 3ol 819 & forT 40% 3id e
I B I 40 i et 9iR 98 40 I A HaA &
1| HfwaH Sl &I T- &:

(A) 160 (B) 180 (C) 200 (D) 320

117. A number consists of two digits whose sum is 12.
If 18 is added to the number, its digits get reversed.
The number is :

(A) 28 (B) 35 (C) 57 (D) 34

117. U AT H &I 3{c §Id § foeT anT 12 gt g |
gfe = H 18 SST o1l 8, dl 39 3id Idc od & |
T %:

(A) 28 (B) 35 (C) 57 (D) 34

118. Three angles of quadrilateral are in the ratio 1: 5:
6. The mean of these angles is 64°. Find the fourth
angle.

(A) 168° (B) 162° (C) 120° (D) 90°

118. IGUT F AT BT 1: 5: 6 F SUT H &1 3
DIV &1 AT 64° | AT I1d IO HI0T|

(A) 168° (B) 162° (C) 120° (D) 90°

119. The negative of -2 is

(a) -2 (b) 2
(c)-12 (d)12
119. -2 BT BUTHAS T 87
(a) -2 (b) 2
(c)-12 (d)12
120. What is the number of sides of a triangle ?
(@)1 (b) 2
()3 (d) 4.
120. Byt Y Y3t @ TRe 1 82
(@)1 (b) 2
()3 (d) 4.
SEC(E) ENGLISH
.Choose the correct alternative. ( @&t fasea )
121. Theteacher ...................... to meet you.
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(i) wants (i) want (@ 26 (&) 32 & 24 (&) 35
(iii) is wanting (iv) will wanted
122. She..................... just ..o her work. 133. What is the next term in the given series ?
(i) has ; finished (i) X ; finished 3,6,9,12, ......
(iii) had ; finished (iv) is ; finishing (A) 13 (B) 14 (C) 15 (D) 16
123. Mohan ...................... for you since morning. 133. _QP[ Y m o 3FTe Qg T %7 3,6,9 12, ...
(i) has wanted (ii) has been waiting @13 (Eﬁ) 14 (?ﬁ) 15 (?ﬁ) 16
(iii) had waited (iv) waited 134. Which of the given group of letters will complete

the given series ?
ba b _aab_a_b

124, 1. a lot of work today.
(i) have done (i) has done (A) baab (B) abba (C) abaa (D) babb '
) did o) s domg 134, faU T 31eRT & T 19 I1 9g & T8 YA B
o HAT?
. ba_b_aab_a_b
125. He will tell you when he ...................... back. (A) baab (B) abba (C) abaa (D) babb

(i) comes (ii) will come (iii) has come (iv) came

135. A cube of side 4cm is painted black on the pair of

126 to 130.Choosing from the option given. one opposite surfaces, blue on the pair of another
et 3 & opposite surfaces and red on_the remaining pair of
(Feme =) opposite surfaces. The cube is now divided into
126.The study of Mathematics brain smaller cubes of equal sides of 1cm each. How many
() requires (i) required smaller cubes have 3 sides painted ?
(iii) will require (iv) require (A)6(B) 12(C) 8 (D) 16
135, 4 YA YSIT aTet Ueh 94 B T fAURId g Bt
127. Game after game played Gﬁ@ﬁW?ﬂFﬂ Wﬁﬁm%mmm%
(i) was (i will be fudia wde! iR faudia ade! 3 AW SIS W wre |
(i) were (iv) are T D1 3fd H fauTiord fosam 1 § U 1 9 &
128. The servant had finished his work when EAER H\_5|T3ﬁ & BIC e | - B¢ T @1 3 H\_:ITQ
(i) I called him (ii) I have called him %?
@ 6 (ah 12 (& 8 (S 16
(iii) I had called him(iv) Would have called him 136. What is the next term in the given series ?
129. He from fever since last night. 121, 144, 169, 196, .......

| (A) 200 (B) 249 (C) 250 (D) 225

(i) is suffering (i) has been suffering

136. &} Y el T SATET UG T /7
121, 144, 169, 196, ......

(ifi) has suffered(iv) was suffering

130. Itelephoned her when I home.
(i) will reach (ii) reach (iii) reached (iv) reaches ‘ (A) 200 (B) 249 (C) 250 (D) 225
137. What is the next term in the given series ?
SEC(F)MENTAL RBILITY 41, 47,59, 67, .......
| (A) 75 (B) 73 (C) 71 (D) 83
131.A die is thrown 24 times. How many times do 137. < T SRael § STeT U & 2
you expect the number ‘4’ to come up? 41 47 59 67
(A) 6 times (B) 24 times (C) 4 times (D) 12 times "(A)' - '(B) 73(0) 1083
131. U TS 24 IR B! Il g1 3177 '4' TR 34T Bt
fora R ITiE I 77 . . .
’ 138. Three out of the four options are same in a certain

@ 6 3R (&) 24 T (@ 4 ¥R @S 12 TR way and so form a group. Find the odd option that

) ] does not belong to the group.
132. Mohan is 18th from either end of a row of boys ? (A) 1:10 (B) 20: 200 (C) 3:30 (D) 5: 55
How many boys are there in that row ? 138. IR faweat § 9 <9 we it b I g9 8
(A)26 (B)32 (C)24 (D)35 3R sa\_}ﬁiaq Wgﬂ:ﬁ’ i aqgg‘s'érrﬁgﬁwm
132. Higd dS®! &1 U Ufad & qiHi R ¥ 189 ”IH @ﬂg' 13 10 (a%l zﬁo ZOEO'%E' 330 &0 5: 55
R g2 39 ufda | fobdq TTsd §2 ' ' ' '
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139. The 2 groups of letters on the left have some
relationship between them. Replace the '?' with a
group of letters so that the 2 groups of letters on the
right have the same relationship.
ABC: EFG: UK :?

(A) ABC (B) XYZ (C) DEW (D) MNO
139, 913 iR F 2 TGl & o $B YU B
aaﬁ%ww%ma 7' B g Al are 3R
&R & 2 THg! BT THH Ia&e Bl

ABC : EFG:: UK : ?
(A) ABC (B) XYZ (C) DEW (D) MNO

140. ‘Soldier’ is related to ‘Army’ in the same way as
‘Pupil’ is related to ..........

(A) Education(B) Teacher(C) Student (D) Class

140. % FT TR I ¥ I UHR B I Ry
PIIHEH .........

@ e &) fRreree (& B0 (SN Pen

141. A man walks 3 km northwards and then turns left
and goes 2 km. He again turns left and goes 3 km. He
turns right and walks straight. In which direction he is
walking now ?

(A)East (B) West (C) North (D) South
141.@@%@?@@?3%%%@?@7{
¢ G301 ¢ 3R 2 [t S g1 a8 R I s gear ©
3R 3 feit Srar B | a8 St ok gear g ok Tt
RGN si‘q’a%'%aﬁmﬁaaw%

(a) 94 (b) TIEH (c) d) afgmor

142. Nageena is taller than Pushpa but not as tall as
Manish. Rama is taller than Namita but not as tall as
Pushpa. Who among them is the tallest ?

(A) Manish(B) Pushpa(C) Namita(D) Nageena

142, T g1 § TS, § Afes T fora ot et
%lwmﬁw%aﬁﬂwmﬁaﬁﬂﬁ%l
I8 J DIF qaY A9 82

(a) BFIY (b) 8T (c) AAAGT (d) i

143. How many 8’s are there in the following sequence
which are immediately preceded by 6 but not
immediately followed by 5 ?
6857854368198546829681368536
(A) One(B) Two(C) Three(D) Four

143. Frufefad srgepa o 9 foan 8 § s St
Ugd 6 § Afdh 31 &1 5 -Tel 87
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6857854368198546829681368536

()T (& & @& 79 &) TR

144. Fill in the missing letter in the following series-
SSV,Y,B,?
(A)C(B)D(C)E(D)G
144, FAgfafad Y@ar d T 31eR & HR—
S,V,Y,B,?

(A)C(B)D(C)E(D)G
145. What should come in the place of question mark in
the following series?
1,4,9,25,36,?
(A) 48 (B) 49 (C)52 (D) 56
145, FfaRed gaer § Uy g & R W &1 3T
Bl

1,4,9,25, 36,7
(A) 48 (B) 49 (C) 52 (D) 56
146. Flight to Mumbai leaves every 5 hours. At the
information counter | learnt that the flight took off 25
minutes before. If the time now is 10 : 45 a.m., what is
the time for the next flight ?
(A)2:20a.m.(B)3:30a.m.
(C)3:55p.m.(D) 3:20 p.m.
146. 43 & forQ wemmge g 5 b o G it 8 | gaT
PR W G Udl Ia fob faa 4 25 e ugd IsH
13 2| Tfe e THT Gag 10: 45 I §, A 3ATE IS
T I 1 §?
(A)2:20a.m.(B) 3:30am.
(C)3:55p.m.(D) 3:20 p.m.
147. Which is the one that does not belong to that
(A) Polo (B) Chess (C) Ludo (D) Carrom
147. 98 BIF & S 394 e g1 &
(@ dieit (&l TSt (@) gt (@) bRA

148. A contest began at noon one day and ended
1000 minutes later. At what time did the contest
end?

(A) 10:00 p.m. (B) Midnight (C) 2:30 a.m.

(D) 4:40 a.m.

148. T AT Uab f qlugR # = g3 3R 1000
fBrTe a1g 9T g3 | Ufcrfiar e IH g7

(@ 10:00 & (st 3M1eft T (&M 2:30 § (S) 4:40 T |
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149. Beena used a calculator to find the product
0.075 x 2.56. She forgot to enter the decimal
points. The calculator showed 19200. If Beena
had entered the decimal points correctly, the
answer would have been

(A) 0.0192 (B) 0.192 (C) 1.92 (D) 19.2

149. ST 9 IdIE 0.075 x 2.56 Pl Wi & ol T
FHAPICR BT IUTNT BT 98 TIHAT 3 Tof HRAT
Yol T8 | SapaeR 3 19200 fem@mn| afg S 3
EWEd foigaft o) Tt & T gof fhar g, df ST
1 gl

(A) 0.0192 (B) 0.192 (C) 1.92 (D) 19.2

150. Which of the following sets of whole
numbers has the largest average?

(A) Multiples of 2 between 1 and 101
(B) Multiples of 3 between 1 and 101

(C) Multiples of 4 between 1 and 101
(D) Multiples of 5 between 1 and 101.

150. guf Temsit & fafofea o 9 forg ag=g &
3 d I 981 §?

(A) 1 3R 101 & &9 2 & OIS

(B) 1 3R 101 & & 3 & TUIH

(€)1 3R 101 & o9 4 & TUIH

(D) 1 3R 101 & &t 5 & 0TH
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